[ Mot H ]
2 1 (700) AtSHHIS g 1 (710) 2SHIE Mgt (713) ti-=2=8l = @ (101) o124 (ctel - &)
= _
" N e | JNE | S & 8 o =
o | & [hE = Ol &F oM =3 A
g Al 75,700,000 61,200,000 14,500,000
Z\?QH'R 11,506,345 11,168,561 337,784
710
ojoly| 2 10,874,462 10,536,678 337,784
EI}-SDAL‘H 1,717,146 1,413,670 303,476
100
o121H| 161,566 104,976 56,590
101
o121H| 161,566 104,976 56,590
133,272 76,682 56,590 [ 04 JIZtH 22 s
O W7dsrdu A4S HZI| uXl AI2A(LR2IEE) 56,590
—JlEs
BH (54,500 x8H x20 x98)-J| & (54,500 x4H x20L x9&F) = 39,240
— (44|
ZH (20,000 x8H x6Lx9&)-I|H (20,0009 x4H x30) = 6,240
—F5=¢
BE (54,5009 x8H x385)-I|H (54,5009 x4H x38F) = 8,284
— 7SI
ZE (54,5003 x8H x9)-I| & (54,5003 x4 x9) = 1,962
— 2rah|
207 (2,0002 x 82 x 122 x 9-) 7| H(2,0002 x42 x 122 x 98 = 864




) =2 & (710) SLHIE Mg : (713) Bi-2=2=H| 5 @ (214) =48R XA bl (&2 - & &)
l - oo | 3 = = N S T
e = 0l & oH =33 o
e 1545580| 1,298,694 246,886
=21
NP 1,526,780| 1,279,894 246,886
587.011 335,325 251,686[01  24MTIIDAYI
O A%EA2I| 2 251,686
— D15mm
217 (43,5002 x6,097H)-71 5 (20,0008 x2,0000H) = 225,220
— D20mm 2% (47,5002 x3954)- 1 F (25,0002 x3007H) = 11,263
— D25MM 27 (68,0002 56574)-1Z (28,0002 x950H) = 11,820
— D32mm 217(99,9002! x 1677H)-71 = (110,000 x 1507H) = 184
— D40MM 217(133,4002 x 1607H)~ 1 (134,002 x 1507H) = 1,044
— D50MM 215(165, 7002 x9994)-1 F (170,000 x857H) = 1,955
939,769 944,569 ~4800(05  AHSTH
O M7l DH LRI (H) 2 (02)-71F (400,002 x 1Hx12/) = A4,800
7ol 9,157,316| 9,123,008 34,308
REE 157, 123, :
o 6.278,921| 6,271,121 7,800
SEm 5,939,373| 5,936,133 3,240
88,867 85,627 3240(04 IJPRIMIETSEA
O M4+E22 AEE4 o5y 3,240




HE I
(700) AtiH (710) IS Mg : (751) geratelt] 0124 b )
P = =
& o B 2 I =
= Ol A o 2 o
20,000 x3E X6 X9 = 3,240
106 285,000 280,440 4,560
R 2 42| ’ ’ :
167,760 163,200 4,560
Z3(28,500,000&)-71&(23,940,0009) = 4,560
2.:(.)0 665,471 638,963 26,508
24l
(239;}_?_ 295,558 275,558 20,000
262,892 242,892 20,000
20,000
20,000
Z&(25,000,0002)-218(5,000,000&) = 20,000
212
=o|S A 124,196 117,688 6,508
98,887 92,379 6,508
O JIZtH 22X 40 28 6,508
o
Z&(109,340,000& x 11.5%)-J1&(52,750,000& x 11.5%) = 6,508




Z23(13,858,594,0009)-71&(2,515,000,000%) =

(200) HEXKE & : (800) CiHIH| ME : (801) clHIH P e - ma)
= peaoy | M 5 @ =

NE o & o4 | o= 2 o
= 13,860,014 2,516,420 11,343,594
ol 13,858,594 2,515,000 11,343,594
E(;?!H Hi 13,858,594 2,515,000 11,343,594
a(l)llltil 13,858,594 2,515,000 11,343,594

13,858,594 2,515,000 11,343,594 =0l &

11,343,594




81 (710) YAHIE HIBt : (713) Hh-2 oA )
o = ser Il = 3| = =
2| & |HIEh Gfl & o 3 A

Z\(})étjlg 12,919,545 12,889,051 30,494
g&mg 12,890,916 12,889,051 1,865
EH1_3§¢H| 9,940,586| 9,938,721 1,865
lf% " 128,492 127,027 1,465
lﬁld,jl 128,492 127,027 1,465
98,780 97,315 1,465

1,465

HH(8,1412 x1H x40AI2tx150% % 128)-J1A(4,397,000) = 1,465
iogm 9.787,094| 9,786,694 400

=2

%E(')!ﬂ—i—%tll 183,075 182,675 400
116,365 115,965 400

400

400,000 x 13| = 400
7%823%. 28,629 0 28,629
§§|éq¢o 28,629 0 28,629
Zjég 28,629 0 28,629
22,022 0 22,022
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(200) XAH=2EX& 8t (230) REXRFS Mg : (234) =2 2 : (401) AIEHIL LY &)
l - oo | I3 | =5 @ & B I =
R = Ol &b o =33 o
F. 8,120,878 6,577,899 1,551,979
S 5167,578|  4,071,509| 1,095,979
e 4,742,840  3,709,331| 1,033,509
P 4,742,840  3,709,331| 1,033,509
4,730,400| 3,698,000| 1,082.400(01  Alat]

O orsopers 80,000,000 x 1Al = 80,000

O 2120t T AMTA 120,000,0002 x 14 = 120,000

SETIERY MBS A 750,000,0002 x 14l = 750,000

O a+PETe BAFHIP N BYS TA 8 22,000,0008 x 14] = 22,000

O SHY ZHTS MDA (ST ZAD 60,400

Rt |2 I A 30,200,000 x 1Al = 30,200

— =R PG EHX S XA 30,200,0008! x 14] = 30,200

12,440 11,331 1.100[03  Al&sCH

O oreidtera 80,000,000 x0.90/100X 70%<E2t> = 504

O 22120t r 120,000,000%! x0.72/100X 70%< R 2> = 605
. 424738| 362,268 62,470
e 424,738 362,268 62,470

422,000 360,000 62,000[01  Al&t]




[ 445D ]
B (200) HEXKE & (230) SEXHIFS Mgt : (235) JIHEX| = (401) Al&HIZS T CLEEE)
. - e | 2NE B8 & = o =
2| & kg = B Of ab o | F 3 A
OJI2E R DH(ET, &t&, 79 14,000,0002 x30H = 42,000
O 7RO+ Q SHAIIYE BII|SEr WA 10,000,0008 x 24 4 = 20,000
2,738 2,268 470(03  AIZSHY]
O JI& |2 RA(ST, &8, 28 42,000,0008 x1.08/100x70%<H 2> = 318
O TOHQ SHAMJIIE BHIJ|SE W 20,000,0008 x1.08/100x 70%<H 2> = 152
E?g%gumwié 2,962,300| 2,506,300 456,000
ifle%mw 2,962,300 2,506,300 456,000
i?lém%$mm 2,962,300| 2,506,300 456,000
2,956,000 2,500,000 456,000 (01 Al&H
O E23AIAE PE ALY 456,000,0008! = 456,000




[ E=1]
2 1 (700) AtSHHIS g 1 (710) 2SHIE Mg @ (712) E==tl = @ (101) o124 = RE=k=)
" - e | JNE | S & 8 o =
o | & [hE = - Ol &F oM =3 A
Z\?&ng 23,808,042 | 23,596,302 211,740
g&tﬂ% 23,808,042 23,596,302 211,740
gim 8,425,212 8,213,472 211,740
jO_(I)S,_-II_-H 1,339,015 1,335,775 3,240
l|>_(l)31\_-llj| 1,339,015 1,335,775 3,240
290,234 286,994 3,240 (04 JIH22XNSES
O &JABSRA SHATH| A2 U(LIAS &S KA AL 3,240
— ol2d|
ZH(220,0009 x 182 x9&)-J1H(200,000% x 18 x9g) = 3,240
2:,03_”:” 7,039,063 6,830,563 208,500
22
%E(')!\ﬂ—i—% bl 402,832 373,332 29,500
341,257 311,757 29,500 (01 At 2teld|
O gBt=ZH| 29,500
— &AM ANEE 8,000
HiOleiA 2ZAE ZAL =2
Z&(2,300,000& x5 A% 23])-I21&(1,500,000% x5 A x23]) = 8,000
— R 6MEHE 2IISEM =& S 9,000,000& x 14! = 9,000
—=Nd&H 2F HY 29 12,500,000& x14] = 12,500
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o
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i00

00
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-

o0

Mg

(234) +

(401) AlEHIZL20HY]

Jo

O & o

—

s
o

5

3o

5,476,176

1,

024,409

5,476,176

1,

024,409

3,507,563

490,567

3,507,563

490,567

3,495,000

490,000

= Jl =

25,000,000 x 14! =

LI SAt 50,000,000% x 14 =
HakH 2= X1)

200,000,000

200,000,000&

15,000,000& x 14!

25,000
50,000
400,000
200,000
200,000

15,000

12,563

567

25,000,000& x1.08/100x70%<& &> =

50,000,000& x1.08/100x70%<&E &> =

189

378

ESPN

1,938,413

533,842

401
NELIELANL]

1,938,413

533,842

1,928,000

531,000

01




g 1 (230) REAAFHS Mgt (235) JIHIE X S (401) AIEHIZ S0 (EH2l - @)

— .
0 & o mf'fgﬂ ggj A
O RUELE Hpgs A DHWESE X Z2AF 60,000,000& x 14! = 60,000
O M22=3X Al EI=2E DX SA 116,000,000& x 14! = 116,000
EHN A LA MIIA Mt MOJEE DAl S A 100,000,000& x 1A = 100,000
O BHMAELZ LED E0tsS WHl Z2AH 30,000,000& x 1Al = 30,000
O YEEHLH 3K STI NI SAF 120,000,000& x 1 &l = 120,000
O SEHF S| 0|SEHIE DM Z2AH 40,000,000& x 1Al = 40,000
O AHdH - DoKX S=EBX WA SA 45,000,000& x 14 = 45,000
O U6 H-F LED E0tS WH SAH 20,000,000& x 14! = 20,000
10,413 7,571 2,842 103 A& 20|

60,000,000 x0.90/100x 70%<E 2> = 378

O H2+=3X K El+=HE WM SAF 116,000,000 x0.72/100x70%<E 2> = 585
O SHEEZ M4 Me HI18E WXl SAt

100,000,000 x0.90/100x70%<& 2> = 630

LEF+T 3L SEZ WHl SBAF 120,000,000 x0.72/100x70%<E 2> = 605

= 303

O
O L2 2ol 0SB Wil BAF 40,000,000 x1.08/100x 70%<&E 2>
O

45,000,000& x1.08/100% 70%<&E 2> = 341




